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3riaso Matepianis
17 1 3,0 - - - 10C3+Ak6+[3 77 0,60 1A 27 30 370 4e CcPB BCUXAHHA Aepes 6 fIICOBNOPAAKYBAHHS HE
BUABRNEHO

17 2 3,0 - - - 10C3 77 0,70 1A 27 30 450 4e CPB BCHXaHHA Aepes 8 -
17 3 3,2 - - - 10C3 77 0,70 1A 27 32 460 4e CPB BCUXAHHA Aepen 7 -
17 4 0,6 - - - 10Cs3 63 0,80 1A 25 26 430 4e CPB BCUXaHHA AepeB 6 -
17 5 1,3 - - - 10C3 71 0,80 1 24 26 410 4e CPB BCUXaHHS gepeB 8 -
71 46 2,2 - - - 10Ca 69 0,50 3 18 28 155 2 CcPB BCUXaHHA AepeB 6 -
27 8 10,0 - - - 10C3+Ak6 61 0,70 1 22 24 340 4e CPB BCUXaHHA aepes 10 -
27 12 3,2 - - - 10C3 61 0,50 1 21 26 240 4e CcPB BCMXAHHA fepes 9 -
27 19 6,0 - - - 10C3 61 0,60 1 21 24 260 4e CcPB BCUXaHHA Jepes 10 -
27 22 6,1 - - - 10C3+Akb 56 0,50 1 19 22 180 4e CPB BCUXaHHA AepeB 9 -

% 15 30 2,2 - - - 10C3+/13 55 0,70 1A 28 32 370 2e CPB BCHXaHHS flepeB 10 A~

g 15 31 2,1 - - - 10C3 76 0,60 1A 27 30 340 2e CPB BCUXaHHR fiepeB 10 -

@ 14 10 3,7 - - - 10C3+[3 55 0,70 1B 25 30 410 4e CPB BCUXaHHA AepeB 12 -

© 17 35 13,5 - - - 10C3 71 0,60 1 23 36 290 4e CcPB BCUXaHHA aepes 7 -
15 29 0,98 - - - 9C3133+bn 73 0,60 1 25 32 305 2e cPB BCUXaHHA sepes 10 ~i-
53 17 15,5 - - - 10C3+[3 61 0,70 1A 25 26 380 2e CPB BCUXAHHA JepeB 7 -
22 2 4,0 - - - 10C3+Yw 56 0,70 1A 24 24 370 de CPB BCUXaHHA JepeB 6 ~f-
22 6 12,5 - - - 10C3 59 0,70 1A 24 24 385 4e CPB BCUXaHHs fepeB 8 -
23 1 3,9 - - - 10Ca+Lly 47 0,80 1A 21 22 355 4e CPB BCUXaHHSs gepeB 8 ~il-
23 2 0,8 - - - 10C3 50 0,70 1A 22 26 350 4e CPB BCUXaHHA aepes 6 -
36 3 5,0 - - - 10C3+Akb 56 0,70 1A 22 24 320 2e CPB BCUXaHHA Aepes 10 -
36 5 438 - - - 10C3+Ax6 61 0,70 1 22 26 350 2e CPB BCUXaHHA Jepes 8 -
36 6 13,1 - - ~ 10C3+Qup 56 0,70 1A 23 24 365 2e CPB BCUXaHHA epeB 5 ~l-
36 13 155 - - - 10Cs3 56 0,70 1A 23 24 350 2e CPB BCUXaHHR fepeB 8 -
36 7 2,1 - - - 10C3+Ak6 58 0,70 1 22 24 335 2e CPB BCUXZHHS IEPEB 5 -
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3riAHO Marepianis
36 19 40 - - - 10Cs 46 0,60 1A 20 22 270 2e CPB BCUXaHHA jepes 5 nicOBNOPAAKYBaHHS
HEe BURBNEHO
36 20 2,2 - - - 10C3k 46 0,40 1A 20 22 165 2e CPB KopeHeBsa rybka 5 -
36 22 25 - - - 10C3 46 0,50 1A 20 24 205 2e CPB BCUXaHHSA Aepes 5 -
% 36 23 0,6 - - - 10C3k 46 0,50 1A 19 20 180 2e CPB KopeHeBa rybka 6 -
2 36 26 22 - - - 10C3 66 0,70 1 22 24 340 2e CPB BCUXAHHS fepes 5 -
'% 36 28 52 - - - 10C3+Knr 66 0,70 2 20 24 310 2e CPB BCUXaHHSA epes 8 -
5 36 29 19 - - - 10C3 66 0,60 1 21 24 260 2e CPB B8CUXaHHA aepes 5 -
36 35 44 - - - 10C3 66 0,60 2 19 22 250 2e CPB BCUXaHHs Jepes 5 -
35 29 53 - - - 10C3+AkG 51 0,70 1A 23 24 350 2e CPB BCUXaHHSA Aepes 5 -
35 6 1,6 - - - 10C3 56 0,50 2 17 20 160 2 CPB BCUXaKHA JepeB 5 -
35 2 1,3 - - - 10C3 56 0,50 2 18 24 180 2 CPB BCUXaHHA 4epes 5 -
Bceoro CPB 169,4 - - - - - - - - - - - - - - -
Crosbyposi griAHo martepianis
23 16 2,0 (6] 0,2 0,2 10Cs3 86 0,75 2 22 24 320 4e CPC LIKAHMKA 485 NiCOBNOPSAAKYBAHHSA
] HE BURBIIEHO
3 54 11 27,0 ) 0,3 0,3 10C3 65 0,75 1 22 22 350 2e CPC  |Crosbyposi wikigH 353 -
£ 54 12 33 &) 04 04 8C3(58)2C3(49) 58 0,80 2 17 18 235 2e CPC  |CroBbyposi WwkigH 175 -
hd 59 11 2,0 (1) 04 0.4 9Cs3103+bn 61 0,60 1A 25 26 320 2e CPC  ICTOBGYpPOBI LWKigHI 188 -
© 11 19 1,8 (1) 1,0 1,0 10C3 81 0,40 1 25 32 270 4e CPC  [CToBbyposi uikiaH 269 -
15 24 2,5 (1) 0.4 04 10C3+13 76 0,60 1A 28 30 380 2e CPC _{Crosbyposi WKiaHI 260 -
Bcwsoro CPC 38,6 - - - - - - - - - - - - - - -
3rigHo maTepianis
2 16 6,7 (2) 6,1 6,1 8C3(70)2C3(50) 70 0,7 1 25 34 375 de CPB BCUXaHHA 15 ficoBnoOpAAKYBaHHA
HE BUSBNEHO
4 1 9,2 - - - 8C31Ak616n 66 0,7 1a 26 36 360 4e CPB BCUXAHHA 10 -
4 2 290 ) 11,3 11,3 10Cs3 60 0,75 1a 23 28 372 4e CPB BCUXaHHS 10 ~-
® 4 1 3,1 - - - 10C3+bn 53 0,7 1a 23 28 350 4de CPB BCUXAHHA 15 -
E 9 8 28 - - - 10C3+0up+bn 43 0,65 16 21 26 285 2e CPB BCUXaHHA 15 -
2 13 14 538 - - - 10C3 53 0,8 1 20 24 328 4e CPB BCUXAHHS 10 -
E 13 29 7.9 - - - 10C3 58 0,7 1 20 24 288 4e CPB BCUXAHHSA 10 -
L%‘ 13 35 6,0 - - - 8C3(53)2C3(63) 53 0,75 2 17 20 253 4e CcPB BCUXAHHA 10 -
13 38 4.3 - - - 10C3 54 0,75 1 20 24 303 4e CPB BCUX3HHR 10 -
14 1 56 - - - 8C3(50)1C3(60)1C3(40) 50 0,75 1a 22 28 333 3 CPB BCUXaHHS 20 -
35 6 3.1 - - - 10C3+Ak6 61 0,7 1a 25 32 395 2He CPB BCUXAHHSA 20 -
39 27 1,0 - - - 7C3(60)3C3(30)+3 60 05 4 12 18 70 4e CPB BCUXaAHHSA 10 -
39 36 0,7 - - - 8C3(70)2C3(45) 70 0,65 1 23 32 285 4e CPB BCUXAHHA 10 il
39 48 0,7 - - - 8C3(100)2C3(65) 100 0,65 2 25 34 335 4ne CPB BCUXAHHS 10 -
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3rigHO MaTepianis
42 13 2,2 - - - 10C3+03 76 0,5 1a 27 36 305 2He CPB BCUXaHHA 10 niCOBNOPAAKYBaHHS
HE BUSBAEHO
43 4 28 - - - 8C32f]3+bpc 75 0,7 1a 28 36 375 4e CPB BCUXaHHA 20 -
43 5 27 - - - 8C32[13+bpc 75 0,65 1a 28 36 350 4e CPB BCUXaHHA 10 -
43 20 29 - - - 9C3143 76 0,6 1a 27 36 340 4e CPB BCHUXaHHA 10 -
44 30 0,7 - - - 10C3+AK6 106 0,65 1 28 40 425 2e CPB BCUXAHHA 15 -
44 49 1,8 - - - 10C3+AkG+bpc 106 0,7 1 29 40 460 2e CPB BCUXaHHA 15 -
46 6 0,6 - - - 10C3+bn 86 0,7 1 27 40 440 2e CPB BCUX@HHS 20 -
47 10 3.1 - - - 7C33[z+bpc+iing 76 0,7 ia 27 34 370 2e CPB BCUXBHHS 15 -
47 18 0,2 - - - 6C33[3(71)143(56)+bn+1na " 0,7 1a 27 36 351 4e CPB BCUXAHHA 20 -
49 14 3,7 - - - 10C3+Bny 80 0,75 1 26 32 335 2He CPB BCUXaHHA 10 -
49 36 12 - - - 9C3(81)1C3(61)+O3+AkE 81 0,65 1 27 36 400 2He CPB BCHUXaHHA 20 -
50 10 0,8 - - - 10Cs 56 0,75 1a 24 28 385 2He CPB BCUXaHHA 20 -
50 11 0.8 - - - 10C3 43 08 1a 20 24 320 2He CcPB BCUXAHHSA 20 -
% 50 13 0,9 - - - 9C3(43)1C3(53) 43 07 1a 20 24 290 2He CPB BCUXaHHA 20 -
8 50 26 23 (2) 1,9 19 9C3(55)1C3(B5) 55 07 1 21 24 300 2He CPB BCUXaHHS 20 -
g 50 43 4,2 - - - 10C3 42 08 1a 20 24 308 2He CPB BCUXaHHS 10 -
=3 50 47 0,6 - - - 10C3 60 0,7 1a 26 32 420 2He CPB BCUXAHHA 30 -
51 11 14,0 - - - 9C3(49)1C3(59)+Ak6+bpc 49 0.8 16 24 28 435 4e CPB BCWXaHHS 15 -
52 5 11,0 - - - 10C3 43 0,8 ia 20 22 335 4e cPB BCUXAHHSA 20 ~1f-
53 1 4,3 - - - 10C3+13 101 0,55 2 24 50 300 2e CPB BCMXaHHS 10 -
53 2 6,6 - - - 8C3(81)2C3(71)+bpc 81 0,7 1 26 36 400 2e CPB BCUXaHHS 10 -
53 3 6,3 - - - 10C3 68 0,6 1a 26 36 365 2e CPB BCUXEHHS 10 -
55 1 8,3 - - - 10C3+[a+Bpc 86 0,65 1 27 40 410 2ne CPB BCMXaHHA 10 -
55 7 37 - - - 9C31/13+bpc 86 0,7 1 27 40 415 2He CPB BCUXaHHA 10 -
56 1 0,5 - - - 10C3+Bn 54 0,6 1 20 26 245 2He CPB BCUXaHHA 20 -
56 2 0,8 - - - 10C3+bn 54 0,3 1 20 26 125 2He CPB BCUXAHKA 20 -
56 4 2,7 - - - 10C3 59 07 1 21 26 315 2He CPB BCUXAHHA 10 -
56 6 25 - - - 10C3 59 0,7 1a 24 30 370 2He CPB BCUXAHHA 10 ~ll-
56 7 0,6 - - - 10C3+6n 66 07 1a 25 36 380 2He CPB BCUXAHHA 10 -
56 10 0,6 - - - 10C3 54 05 1a 22 28 240 2ue CPB BCUXAHHA 30 -
56 12 11 - - - 10C3 54 04 1 21 28 190 2He CPB BCUXAHHS 25 -
56 15 59 - - - 8C3(56)2Ca(66)+bn 56 0,7 1a 22 26 340 2He CPB BCUXaHHA 10 -
56 21 43 - - - 10Cs3 58 07 1a 24 30 370 24e CPB BCUXEHHSA 15 -
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IMNDHO maTepianis
56 32 0,6 - - 10C3+bn 50 0,7 1a 21 26 310 3 CPB BCUXaHHA 20 NICOBNOPAAKYBAHHS HE
56 33 0,2 - - 10C3 36 07 1a 17 22 230 3 CPB BCUXaHHSA 15 i
57 1 0,8 - - - 9C31Ak6 66 0,7 ia 25 30 370 2xe CPB BCUXaHHA 15 ~-
57 2 0,3 - - - 9C31bpc+AkD 66 03 1 24 28 145 2ne CPB BCUXEHHS 15 -
57 3 14 - - - 9C31AKG+Bn 66 0,7 ia 26 30 410 2He CPB BCUXaHHA 15 -
57 5 1,6 - - - 10C3+AK0 71 0,7 1a 27 34 430 2He CPB BCUXAHHS 15 -
57 6 20 - - - 10C3 66 07 1a 25 30 390 2He CPB BCUXEHHA 15 ~ff-
57 9 7.1 - - - 10C3 76 0,7 1a 27 36 435 3 CPB BCUXAHHS 15 -
57 14 1,4 - - - 10C3+Ak6 64 0,7 ia 26 32 415 3 CPB BCUXAHHSA 15 -
58 1 44 - - - 10C3+[13 76 0,7 1 26 34 420 3 CpPB BCUXaHHR 15 ~l-
58 2 54 - - - 10C3 64 0,65 1a 27 34 395 3 CPB BCUXaHHA 15 -
58 7 3,6 - - - 10C3+AKB 69 0,7 1a 27 32 445 3 CPB BCUXAHHS 15 -
58 14 0,5 - - - 10C3 64 0,5 1 21 30 230 3 CPB BCUX3HHA 15 -
° 60 11 10,0 - - - 10C3 64 0,75 1 24 28 400 4e CPB BCUXAHHA 16 -
% 60 22 41 - - - 10C3+Ax0 74 Q7 1 25 28 410 4e CPB BCUX3HHA 15 -
2 61 16 56 - - - 10C3+[3 59 0,75 1a 24 32 397 de CPB BCUXAHHA 15 -
3 61 17 1,0 - - - 10C3+113 44 0,8 1a 19 22 300 4e CPB BCUX@HHS 15 i
3 61 24 0.8 - - - 10C3 42 0,8 1a 18 22 280 4e CPB BCUXaHHA 15 -
u 62 5 6,2 - - - 9C31bn+[3 53 07 1a 24 30 370 4e CPB BCUXAHHS 15 -
62 14 23 - - - 9C316n 48 0,7 1a 22 24 335 4e cpP8 BCUXBHHRA 20 -
62 15 34 - - - 10C3+bn 42 0,7 1a 20 24 295 4e CPB BCUXAHHR 20 -
62 20 1.8 - - - 10C3+bn+Akb 48 0,7 16 23 26 345 4e CPB BCUXAHHA 15 -
62 21 19 - - - 10C3+Bnu+bn 47 0,7 1a 21 26 320 4e CPB BCUXAHHA 15 -
67 1 16,0 - - - 10C3+bn 71 0.6 1a 26 36 350 3 CPB BCUXAHHA 10 -
68 3 58 - - - 10C3 76 0,7 1 26 34 415 2e CPB BCUXaHHA 10 -
69 5 49 - - - 10C3 81 0,7 1a 28 36 450 2He CPB BCUXAHHA 15 ~l-
84 2 29 - - - 10C3 49 0,5 1a 21 28 270 2He CPB BCUXAHHA 20 -
85 5 6,7 - - - 10C3+AB 71 0,75 1 25 32 405 2e CPB BCUXAHHSA 10 -
86 2 28 - - - 10C3 61 0,75 1a 24 26 400 2He CcPB BCUXaHHS 15 -
86 3 3,0 - - - 10C3 56 07 1a 24 30 385 2He CPB BCUXAHHS 15 -
86 4 0,6 - - - 10Cs 42 0,75 1a 20 26 310 2He CPB BCUXAHHA 15 ~1l-
86 5 23 - - - 10C3+AK6 66 0,7 ta 25 30 400 2He CPB BCUXAHKA 15 -
86 6 2,1 - - - 9C31Ak6 66 a7 1a 26 30 405 2ne cPB BCUXaHHA 20 rli-
Bcworo - 304,2 - - - - - - - - - - - - - - -
Crosbyposi ) 3rigHO MaTepianis
% 2 16 6,7 ()] 0,6 0,6 8C3(70)2C3(50) 70 0,70 1 25 34 375 4e CPC g 235 NICOBROPAAKYBAHHS HE
O -
£ 50 26 23 ) 04 0.4 9C3(55)1C3(65) 55 0,70 1 21 24 300 2e CPC Crosoyposi 490 -
< LUKIA MWK .
g 51 2 63 o 04 04 | %Egﬂé); EECOLN P 0,75 16 22 26 280 3 cpC ot 180 oI
Bcworo CPC 15,3 - - - - - - - - - - - - - - -
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3rAHO MaTepianis
28 8 13 - - - 10C3+03 60 0,7 1a 23 24 340 2e CPB BCWXaHHA depes 25 NICOBNOPARKYBAHHA HE
BAABIEHG
28 10 18 - - - 10C3 76 0,7 1 23 26 375 2e CPB BCUXaHHA aepes 30 -
33 1 2,8 - - - 10C3 61 038 1 22 26 375 2e CPB BCUXaHHA aepeB 25 -
33 2 1,6 - - - 10C3+BIM+AKB 43 0,38 1a 19 22 295 2e CPB BCUXaHHA gepes 35 -
33 3 09 - - - 10C3 76 0,8 1 24 32 410 2e crPB BCMXaHHA gepes 20 -
34 9 9,5 - - - 10C3 64 0.7 2 20 24 310 2e CPB BCUXAHHS Aepes 30 -
34 21 53 - - - 10C3 69 0,8 2 20 24 330 2e CPB BCUXaHHA lepeB 35 ~1l-
34 26 28 - - - 10C3+AKb 42 0,7 2 15 18 195 2e CcPB BCUXaHHA fepes 15 -
36 1 1.4 - - - 8C3(66)2C3(51) 66 0,8 1 22 24 360 2e CPB BCUXaHHS! iepeB 35 -1~
36 5 0,4 - - - 10C3 bAl 0,7 1 23 26 340 2e CPB BCUX3HHS Aepes 20 -
© 36 6 0.6 - - - 10C3 66 0.8 1 21 24 340 2e CPB | scuxannn aepes 15 -
E 36 8 15 - - - 10C3 59 0,8 1 22 24 410 2e CPB BCUXaHHSA AepeB 25 -
@ 39 5 42 - - - 10C3 66 07 2 20 22 280 2e CPB BCUX3HHS AepeB 25 -
>§ 39 6 9,2 - - - 10C3 66 0,8 1 22 22 385 2e CPB BCUXAHHN AepeB 20 -
b4 40 6 1,3 - - - 10C3+AKb 59 0,7 1 22 24 320 2e CPB BCUXaHHS gepes 30 -
40 9 35 - - - 10C3+AKb 64 0,8 1 24 24 415 2e CPB BCUXaHHS AepeB 30 ~1i-
4 1 7.7 - - - 10C3 51 0,75 2 17 20 260 2e CPB BCUX3HHS AepeB 15 -
41 3 23,3 - - - 10C3+AKb 66 0,8 2 20 24 340 2e CPB BCUXaHHS fepes 15 -
53 14 3.6 - - - 10C3 86 0,7 1 25 26 380 2e CPB BCUXaHHS aepeB 25 -
53 15 36 - - - 10C3 78 0.7 3 20 22 240 2e CPB BCUXaHHS Aepes 20 -
63 4 2,3 - - - 10C3 76 0,7 2 21 24 300 2e cPB BCUXaHHA gepes 25 -
63 6 7,6 - - - 10C3 82 0,85 2 23 26 385 2e CPB BCUXaHH$ AepeB 30 -
63 9 26,1 - - - 10C3+6MN 66 0,7 1 21 24 325 2e CPB BCUXaHHs gepeB 30 -
63 16 1,4 - - - 10C3 76 0,8 1 25 28 420 2e CcPB BCUXaHHs fepes 20 -
64 1 20 - - - 10C3 82 0,85 1 24 26 430 2e CPB BCUXaHHS AepeB 15 /-
70 7 - - - 10C3+bn 41 0,75 1 16 20 230 2e CPB BCUXaHHS AepeB 20 -
Bcworo - 150,7 - - - - - - - - - - - - - - -
. 3rIAHO Marepianis
50 24 29 ) 0.2 02 8C3(78)2Ca(48) 78 07 2 21 28 310 2e CcPC CL‘;;?:{T' 320 (liCOBNOpPAAKYBaHHS HE
BUABNEHO
50 8 6,8 m 05 0,5 10Cs 58 08 1 21 24 340 2e CPC ”°"‘e";z:”y“"‘" 272 At
63 2 15,5 O 1 1 10Cs 56 0,85 1 19 22 305 2e cpc C;‘;zm(‘;‘“ 295 a
% 70 1 7 0 06 0,6 10C3+Bn 41 0,75 1 16 20 230 2e CPC C[L"’(;ﬁgm"' 208 -
‘E 70 1 7 (2) 0,4 0,4 10C3+bn 41 0,75 1 16 20 230 2e CPC CT0BO.WKIAHAKK 203 -
=
= 70 5 16 0 0.4 0,4 10C3 66 0,85 1 22 26 400 2e CPC Crosbyposi 330 -
WKIAHUKN
78 33 5 0) 09 0.9 10C3 66 0,7 2 20 |y 22 290 2e cPC C;i;z”fzf' 137 a
79 25 2,1 ) 0,8 08 10Ca 91 0,6 4 18 26 185 2e CPC ”°"‘e";‘:‘3 el 200 -
Bcworo - 47,9 - - - - - - - - - - - - - -
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1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
3 1 2,1 - - - 10C3 71 07 1 25 30 385 2e cPB BeuxaHHs 1 |Prawovericomnopm. e
3 2 1,7 - - - 10C3 71 0,8 1A 26 30 430 2e CPB Beuxanus 10 -
4 12 29 - - - 10C3 86 0,6 1 27 36 370 2e CPB Bouxanus 10 -
4 13 5,6 - - - 10C3+3 86 0,7 1 26 36 420 2e CPB Bcuxanusa 10 -
5 16 26 - - - 9C31/]3+bxa+Kns 86 0,7 1A 29 36 470 2e CPB BeuxaHhs 10 -
5 17 2 - - - 9C31AKG+Kna 86 0,5 1 28 32 280 2e CPB Beuxanhs 10 -
6 5 1,5 - - - 10C3+[3 Y4l 0,7 1A 26 36 400 2e CPB Bcuxanus 10 M-
6 7 1,8 - - - 8C3k2C3+[3+Cxp 66 0,4 1 24 30 270 2e CPB Bcuxarks 10 -
7 7 14 - - - 9C31[13+5Ane+bxa+Ak6 81 0,6 1A 28 26 350 2e CPB BcuxaHHs 15 -
7 8 13,5 - - - 9C31[3+5ne+bxa+Ak6+0Oc 81 0,6 1A 28 36 350 2e CPB BcuxaHHs 15 -
9 6 29 - - - 8C32[13+Ak6 66 07 1A 25 32 390 2e CPB BeuxanHs 15 -
9 17 2.5 - - - 9C3113+bpc+Knsa+Ak6 59 0.6 1A 26 30 345 2e CPB BouxaHts 10 -
11 " 1,1 - - - 10C3+Akb 61 0,6 1 20 24 250 2e CPB BeuxaHHa 5 -
1 14 1 - - - 10c3 56 0,6 1 20 24 250 2e CPB BeuxaHHa 5 -
12 ] 1,5 - - - 8C3(66)4C3(81) 66 0,8 1A 25 26 425 2e CPB BeuxanHs 5 -
12 15 1,2 - - - 10C3 56 0,8 1A 24 26 390 2e CPB BouxanHs 5 -
12 16 44 - - - 10C3 56 08 1A 24 26 410 2e CPB BcuxaHHa 5 -
% 12 17 38 - - - 10C3 81 0,7 1A 28 36 450 2e CPB Benxanhst 5 -
2 17 2 6,1 - - - 7C3(71)3C3(51) 71 0,7 1 25 30 400 2e CPB BeuxanHs 15 -
3 17 13 53 - - - 10Cs3 66 07 1 24 26 390 2e CPB BonxaHHs 15 I
b 17 20 1,7 - - - 10Cs3 56 0.8 1A 22 24 370 2e CPB BeuxaHHs i0 -
E 17 21 1,2 - - - 10C3 56 08 1A 23 26 380 2e CPB Beuxanus 10 -
@ 17 23 2 - - - 10Cs3 56 0,7 1A 23 26 340 2e CPB BcuxanHs 15 -
17 24 2,1 - - - 10C3 56 06 1A 23 28 320 2e CPB BcuxahHs 15 1
18 2 1.1 - - - 10C3 76 0,8 1 25 32 400 2e CPB Bcuxahhs 15 -
18 3 0,6 - - - 10C3 51 0,7 1A 22 24 340 2e CPB BcuxanHa 15 -
18 7 9.1 - - - 10C3 56 0,85 1A 22 22 380 2e CPB BouxaHus 15 -
18 8 13 - - - 7C3(56)3C3(66) 56 0,8 1A 23 26 420 2e CPB BeuxaHHa 15 -
18 13 1,7 - - - 10C3 56 06 1 21 24 280 2e CPB BeuxanHs 15 -
18 16 3,1 - - - 10C3 56 0,7 1A 22 24 350 2e CPB Beuxannn 10 -
19 18 0.6 - - - 9C316n 61 0.6 2 18 24 200 2e CPB BcuxaHna 15 -
19 19 0,7 - - - 10C3 56 0,7 2 18 24 260 2e CPB Beuxanus 15 -
19 21 0.6 - - - 10C3 56 0,8 1 20 22 320 2e CPB BcuxaHHs 15 -
20 8 36 - - - 10C3+Oc+bn 56 0,7 1A 22 26 330 2e CPB BcuxanHa 5 -
20 12 57 - - - 10C3 56 09 1A 24 26 460 2e CPB Bouxanhs 5 I-
20 14 0,4 - - - 10Cs3 56 08 1A 23 24 420 2e CPB BcuxanHs 20 -
20 18 0,7 - - - 10C3 56 07 1A 24 26 380 2e CPB BeuxanHs 15 -
21 6 15 - - - 10C3 67 0,7 1 24 28 395 2e CPB Beuxanna 15 -
24 3 7 - - - 10C3 76 0,7 1 25 32 380 2e CPB BecuxaHua 20 -
25 2 8.8 - - - 10C3 66 0,85 1 24 28 440 2e CPB BeuxaHHa 20 -
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26 1 0,3 - 10c3+6n 56 0,7 1B 25 28 370 2e CPB BouxanHs 15 |riawomarmcosnopan. e
26 4 24 - - - 10C3 56 0,6 1 21 24 250 2e CPB Beuxanua 5 -
26 9 0,4 - - - 10C3 61 0,7 1A 24 26 395 2e CPB Beuxanhs 15 -
26 10 1,7 - - - 10C3 56 0,85 1A 24 26 460 2e CPB Benxanns 15 -
26 12 1.8 - - - 10C3 56 0,8 1A 24 26 460 2e CPB Beuxauus 15 -
26 18 0,9 - - - 10Cs 55 0,8 1 21 24 350 2e CPB Beounxanus 5 /-
29 13 39 - - - 10C3 61 0,75 1 22 26 360 2e CPB Bcuxanns 15 -
32 1 14 - - - 10Cs3 56 0,8 1A 24 28 440 2e CPB BeuxaHus 10 -
32 3 1,2 - - - 10C3 62 0,8 1 23 26 385 2e CPB BevxaHka 10 -
33 8 2,2 - - - 10C3 56 0,7 2 17 26 220 2e CPB BcuxanHa 15 -
33 9 35 - - - 10Cs 56 0,8 1A 22 26 360 2e CPB BeouxanHs 15 /-
33 22 0,2 - - - 10C3 66 0,85 1 24 32 430 2¢ CPB BcuxarHs 5 -
34 8 24 - - - 10C3 56 0,7 1A 22 28 350 2e CPB BcuxanHa 15 -
34 9 27 - - - 10C3 56 0,38 1 21 24 340 2e CPB BcuxanHs 5 -
34 10 1,6 - - - 10Ca+bn 56 0,6 1 19 24 220 2e cPB BeuxanHa 5 -
® 34 11 0,9 - - - 10C3+0Oc+bpc 56 0,7 1 19 22 260 2¢ CPB BcuxanHs 15 -
% 35 19 2 - - - 10C3 56 0,5 2 17 20 180 2e CPB BeuxaHHs 15 -
_g; 35 20 1.3 - - - 9c3(66)1C3(81) 66 0.7 2 20 28 280 2e CPB Bemxanus 15 -
3 37 10 22 - - - 10C3 76 0,85 1 25 28 460 2e CPB Beuxanss 15 -
> 37 27 5 - - - 10C3+Akb 81 0,85 1 27 32 490 2e CcPB BceuxaHhs 15 -
3 41 2 2,1 - - - 10C3 81 0,7 1 26 32 400 2e CPB Beuxanusa 15 -
o 41 3 3 - - - 10C3 66 0,8 1 22 28 365 2e cPB Beuxanhs 15 -
41 4 9,9 - - - 10C3 81 0,7 1 25 36 410 2e [0 5=) Benxanua 15 -
41 5 1.8 - - - 10C3 86 0,7 2 24 36 380 2e cPB Benxanua 10 -
141 8 1,7 - - - 10C3+Ak6 66 038 1 22 26 400 2e CPB Bcuxarhs 10 -
41 16 1.9 - - - 10C3 66 0,8 2 20 24 345 2e CcPB Bcuxanus 15 -
44 1 6,1 - - - 9C31AK6 76 0,85 1 25 32 400 2e CPB Bceuxanns 10 -
44 3 1,8 - - - 8C32Ak6 76 08 1 25 32 370 2e CcP8 Beuxanna 10 -
44 4 6,3 - - - 10C3+Akb 76 0,85 1 25 32 450 2e CcPB BcuxaHhs 10 -
44 8 43 - - - 10C3 62 0,8 1 22 26 380 2e CP8 BewnxanHs 10 -
44 9 25 - - - 10C3 66 0,8 1 23 28 380 2e CPB Bcuxanus 10 -
44 10 3,7 - - - 10C3+Akb 76 0,85 1 25 32 460 2e cPB Beuxanus 10 -
44 11 2.8 - - - 10C3 76 08 1 25 26 425 2e cpPB BcuxaHhs 10 /-
44 12 0,2 - - - 10C3 76 08 1 24 26 440 2e CPB BeuxanHs 10 -
44 13 1.5 - - - 10C3 76 0,8 1 24 32 450 2¢ CcP8 BeuxanHs 10 -
44 14 43 - - - 10C3 66 0,8 1 23 26 410 2e CPB BemnxanHa 10 -
45 4 25 - - - 10C3 81 0,7 1 26 36 410 2e CPB BcouxanHs 5 ~1l-
45 6 24 - - - 10C3 66 0,8 1 24 28 430 2¢ cPB BeyxanHa 10 -
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45 8 41 - - 10C3 76 0,7 1 24 28 360 2e cPB Beuxakhs L
47 4 44 - - - 10C3 61 0,7 1 22 26 350 2e cPB Bomxanus 10 -
47 5 57 - - - 10C3 96 0.6 2 25 32 350 2e CPB Beouxanns 10 -
47 6 0,6 - - - 7C3(96)3C3(61) 96 0,7 2 25 32 350 2e cPB Beuxauus 15 -
47 10 2 - - - 10C3 96 06 2 24 32 330 2e CPB Bcuxanus 10 -
47 12 13 - - - 7C3(66)3C3(51) 66 0,7 1 22 26 300 2e CPB Beuxanus 10 -
49 1 338 - - - 9C3(66)1C3(86) 66 0,7 1 23 24 375 2e cPB Beunxauus 10 -
49 2 24 - - - 10C3 86 07 1 27 28 420 2e - CPB BcuxanHs 10 -
49 3 54 - - - 10C3 96 0.6 2 25 36 320 2e CPB Beuxanhs 10 -
49 4 53 - - - 10C3 65 0,8 1 23 28 380 2e CPB BeuxaHHs 10 -
49 5 1,8 - - - 5C3(76)3C3(96)2C3(51) 76 0,7 3 18 20 215 2e CPB Bcuxarhs 10 -
49 9 1 - - - 7C3(66)3C3(80) 66 0,7 2 19 24 200 2e CPB BerixanHs 15 -
49 10 1,2 - - - 6C3(91)4C3(66) 91 0,6 2 25 40 290 2e CPB Beuxanus 10 -
49 11 17 - - - 10C3 66 0,8 1 21 22 350 2e CPB Bemnxanhs 5 ~li-
50 1 4.8 - - - 9C3(66)1C3(76) 66 08 2 20 24 320 2e CPB Bouxanus 10 -
50 2 7,2 - - - 10C3 82 0,7 1 25 32 410 2e CPB Bcuxanus 5 ~ll-
] 50 3 4,6 - - - 10C3+Ak6 97 0,7 2 26 32 400 2e CPB BeuxaHHs 15 -
3 50 4 0,3 - - - 7C3(77)3C3(57) 77 Q7 1 25 32 365 2e cP8 Bcuxatits 15 -
£ 50 5 16,2 - - - 10Cs3 96 0,7 2 24 28 380 2e CPB Bcuxanus 5 -
g 50 6 0,9 - - - 10C3 82 0,6 1 26 32 340 2e CPB BeuxaHHs 15 -
3 50 7 0,6 - - - 10C3 67 0.8 1 23 28 385 2e cPB BeuxanHa 15 -
& 50 8 55 - - - 10C3 a7 0.7 2 26 28 440 2e CPB Beuxakhs 10 -
50 13 1 - - - 10Cs 71 0,7 3 17 24 210 2e CPB BeouxanHs 10 -
53 9 29 - - - 10C3+AkK6 81 0,7 2 22 28 300 2e cPB BcuxaHHa 10 -
53 15 20,2 - - - 10C3 96 0,7 2 23 32 350 2e cPB Beuwxauus 5 -
53 16 25 - - - 10C3 96 0.6 3 22 28 245 2e CcPB Beuxanxs 5 -
53 17 1,3 - - - 10C3 96 04 3 20 32 140 2e CcPB Beuxankg 10 ~l-
53 18 0,6 - - - 10C3 71 0,6 3 18 26 185 2e CPB BouxanHs 10 -
53 19 1,9 - - - 9C3(66)1C3(51) 66 0,6 1 23 28 285 2e cP8 Bcuxanua 10 -
56 9 1.3 - - - 6C3(86)4C3(66) 86 0,75 2 23 32 360 2e CPB Beuxauns 10 -
56 10 0,8 - - - 10C3 91 0,7 2 24 32 360 2e CPB BeuxaHHa 10 -
56 14 31 - - - 10C3 63 08 1 22 28 390 2e cPB Bcuxanus 10 -
56 17 2 - - - 10C3 61 0,7 1 21 24 300 2e CPB BeuxaHHs 10 -
56 23 3,6 - - - 10C3 73 0,7 1 26 28 430 2¢ cPB Bcuxanus 10 -
57 25 10,1 - - - 10Cs 76 07 1 25 32 380 2e cPB Bewxankn 5 -
60 1 25 - - - 8C32Ak6 76 0,7 1 23 28 310 2e CPB BeuxaHHs 5 -
60 4 14,2 - - - 9C31AK6 66 0,7 1 23 28 320 2e cPB Bcuxanus 5 -
60 7 10,2 - - - 10C3 83 0,7 1 25 28 380 2e CPB Beuxauua 5 -
63 5 21 - - - 10C3 64 0,85 1 24 26 435 2e CPB Beuxanns 5 -
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64 1 - - 10C3 63 08 1 22 26 Beyxanks SO MaT MICOBNODAA. He
64 2 - - 10C3 76 08 1 25 28 Beuxanns
64 3 - - 10C3 56 0,8 1A 22 26 BcuxadHa
64 4 - - 10Cs3 81 0,7 1 25 32 BeuxanHst
64 5 - - 10C3 66 0,7 1 23 24 Beuxanus
64 6 - - 10C3 75 0,6 1 25 28 BcuxanHs
64 7 - - 10C3 66 0,7 1A 25 28 BeuxanHs
64 8 - - 10C3 66 0,7 1A 25 28 BeuxarHs
64 9 - - 7C33bn 56 0,7 1 20 22 Beuxanha
64 10 - - 10C3 51 0,7 1A 22 26 Bcuxauua
64 11 - - 10C3 51 0,7 1A 22 26 BcuxauHs
67 45 - - 8C3203+bn 71 045 1 23 36 Beuxanust
o 68 14 - - 10C3+bn+MIna+0c 85 0,7 1 26 32 BCyxaHHs
3 68 21 - - 10C3 86 0,65 2 24 32 Beuxanus
2 68 25 - - 10C3 85 07 1 26 32 BemxanHs
e 69 33 - - 10C3 85 0,7 1 25 32 BeuxanHst
% 72 7 - - 10C3+Nna 81 0,7 1 25 36 BcuxauHs
3 72 9 - - 6C34Mna+[3 81 0,6 1 25 36 BevxatHsi
72 21 - - 10c3+[3+/Ing 81 0,7 1 26 36 Beuxauns
73 12 - - 10C3+03 86 0,7 1 26 36 Beunxanus
73 15 - - 10Cs3 86 0,4 1 26 32 BeuxaHha
73 27 - - 10C3+1ng 86 0,7 1 26 32 BcuxadHa
74 26 - - 10C3 86 0.7 1 26 32 Bcuxanus
75 1 - - 10C3 86 0,7 1 26 36 BeuxahHst
75 9 - - 10C3+Mna 86 0,7 1 26 32 BcnxanHus
95 3 - - 10C3 46 0,75 16 22 26 BcuxauHa
95 4 - - 10Cs 43 0,55 1A 19 28 Bewxanda
95 1 - - 10C3+bn 46 0,8 1A 20 22 Beuxahus
95 12 - - 10C3 52 0,8 1A 22 28 Beuxanns
6 20 - - 6/13(96)443(80)+Ane 96 0,6 2 25 40 BeuxaHHa
Bcworo - - - - - - - - - -
Beworo - - - - - - - - -
PA30OM BT. CPC - - - - - - - - -
CPB - - - - - - - - -
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